| total events O=anyInput 8=anyAccept |

...................................................................

Mean

RMS

Entries 7054
3.843
3.257

............................................................................

...................

................................................

1 2 3 4 5 6 7 8 9
Accept: 4=oneJet, 5=diJet, 6=rnd

|L2 COMP+DECI time per input event

Entries

P =
£ 220F
Q) —
& 200
~180F
160F
140F
120F
100F

80F
60F
40
20

Mean

RMS

3133
28.63
9.97

...............................................................................

Aooown Lo v b v o v o Lag v Ly

0 20

60 80 100 120 140 160
x: COMP+DECIS time (CPU kTics)

40

180

|rauaofinputevents

Entries 3133

4ccpet rate blue:monoJet, red:diJet, black:randon1

Entries 1146

Mean
RMS

122.4
62.12

y: rate (Hz)

= T Mean 123.9
16 epep e nenas e L R R TP TR P

h”‘!p : RMS  59.12
14; e
7 | e A
0]
o el B LT L R PR PP P PP PR
B b
4 L LR T I T I L L Tk T I
) Y B
0 [ 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1

0 500 1000 1500 2000 2500

X: time in this run (seconds)

y: rate (Hz)

................................................................................

1000 1500 2000

2500

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=801+

soft=1601+,

032 00 400 o00 00 BOO 900

soft=4001+.

500
X: BTOW softiD.



x: i=chan+128*crate

05

0

i=chan+128*crate

0

x: i=chan+128*crate

0

x: i=chan+128*crate

=chan+128+crate




BTOW tower, Et>2.0 GeV (input) Entries 2741| |etow entes 405

190 - O W-East BTOW-West ] Endcap
5 o= iyl : =
® 2

i &

200 “soame™ L -

d

=

o

>

X. eta b | n ’ [-l,+l] x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input) |

>
(o)

Jet2 Et/G

Entries 3133

301 : 180
C I 160
] S e
B i —140
R R T o —120
C . i 100
1= T U M Beeeeeees
B : r —80
- : =
10 e N e L SRS PR —{60
- ™ 40
5 N, e U e e e e e
B : - : 20
O | 1 1 1 1 | 1 1 1 1 O
0 5 10 15 20 25 30

x: Jetl Et/GeV

|diJet phil-phi2 (input) |

y: iPhi ~sector

y: iPhi2 ~sector

Entries 3133

0 5 10 15 20 25 30
x: iPhil ~sector

|diJet2 eta-phi (input)|

y: iPhi ~sector

BTOW-West| Endcap

Entries 3133
30

10 12 14
x: iEta [-1,+2]

Entries 3133

I30

25
20

15

10

10 12 14
X: iEta [-1,+2]



Jetl Et (input)

Entries 3133

Jet2 Et (input)

3

Entries 3133

e |Mean 7.858
RMS 2.849
102 |
10
1
0 -eo
x: Et (GeV)

# BTOW towers>ped+8 (input)

10 T T T T T Mean
RMS

2.935
2.096

102

10 |

0 10 20 30 40 50

60

x: Et (GeV)

Entries 3133

Mean 17.2
-------------------------------------------------------------------- RMS  7.293
N PN T I T T
0 20 40 60 80 100 120 140 160 180 200

x: # of towers/event

Entries 3133
Mean 3.629
RMS 3.098

o
80

i
90 100

x: # of towers/event

Mean
X RM

Entries 3133

14.8
5.492

102

10

0 10 20 30 40 50 60 70 80

90 10
x: Et (GeV)

0




one-Jet Et (accepted) |

Entries 1146

0 10 20 30 40 50 60

X: jet Et (GeV)

one-Jet phi (accepted) |

one-Jet eta-phi (accepted)
D DTUYV
- ] I = B IIIIII

y: iPhi ~sector

...........

...........

Entries 1146

60

50

40

30

20 :_ ......................................................................................
10—
0 C 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30

x: iPhi ~sector

120

100

80

60

40

Entries 1146

-West| Endcap

10 12 14
x: iEta [-1,+2]

Entries 1146

...................................

...................................

2 4

6 8

10 12 14
x: iEta [-1,+2]



E f 1 . 2 Entries 860 H 1 _ h Entries 860
| t of Jetl vs. Jet (accepted)| |d|Jet eta-phi (accepéei@lv_West Endcap

> 30 _ 30
() B o
S F 3
8 o
3 25— Tooo[EEER e R .
B <
i a
20 > 20
151 15—t R
10[- 10 by -+ e e S T
IS . u TERmaERE PSS
0 C 111 | [ T | [ I | | 111 | | I T | | | I T | O 0 |
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted)] Enties  860]  [djJet2 eta-phi (accepted)|
30 DT VA oToW-Wes

y: iPhi2 ~sector
N
(6]

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted)|

10

10

Entries

Mean

:{RMS

860
9.731
3.447

............................................

— High Et jet
--- Low Et jet

1 el el Sl o il s el Bl Tl Tl el 5 o el il el Rl el

20

|diJet phi (accepted)|

45

40

35F- -

30

25

20

15

10

5

30 40 50
x: Et (GeV)

60

|diJet eta (accepted) |

Entries

100[— -+

80_"""" """""'E""' et '-"-"_' """ T.T.: """"""

..........................

oo —High Et jet

i --- Low Et jet

40

Mean

860
5.886
3.193

RMS

.....................

_IllillIilllilllilllilllilll-I-
0 2 4 6 8 10 12 14

Entries

—|Mean

. [RMS

860
14.85
8.665

— High Et jet
--- Low Et jet

I

5 10

15 20

x: iPhi ~sector

25 30

|di.]et delZeta (accepted)|

x: i Eta[-1,+2]

Entries

..........

11 1 | l—i | I T I 11 1 | i | I T | i 11 1 1

Mean

860
30.97
6.097

RMS

.......................

| I N | I 1

0 10 20 30 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) |

40

y: delta zeta (rad*10)

60

50

6 8

|diJet delZeta vs. avrPhi (accepted)|

60

50

40

y: delta zeta (rad*10)

30

20

10

12 14
x: iEtal [-1,+2]

Entries 860
Mean x 14.7
(Meany 30.97

0

15

25 30
x: (iphil+iphi2)/2 (12 deg/bin)

Entries 860 H Entries 860
Moo 5806 |d|Jet eta2 vs. etal (acpted)| 5 886
Mean 30.97 — P TS vV 6.043 §
: el R B E N - "
. —
10 o .
© ca
............................ g 4 4I0
*

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]



|tota| Et diJet (accepted) |

Entries

L e S S S S S S R

8O- ieee1-

B0t foook

Mean

860

19.78

L L 0 S T S R T

o

111 v v b mn ey vad me s Lo Loy Lm by gy

0

10 20 30 40 50 60 70 80 90

x: Et (GeV)

100

|tota| Et diJet (accepted_EE)|

Entries

Y

........

;] S RN

0.6+ bt

ol L

0.2f—+w+eeeeees R AR E

:|Mean

4

17.75

....................................................

20 30

ltotal Et diJet (accepted EB)|

Entries

6

:|Mean

50

18.8

30 40

x: Et (GeV)

50 60

|total Et diJet (accepted BB)]

40

50 6

x: Et (GeV)

0

Entries

L S S S S AR

80—+ |-

go[--iv -4

Mean

860

19.78

.....................................................................
.........................................................................
T e L U A DA

20

IIIIIIIIIIIIIIrhIIII'IthIIIIIIIIIIIIHIIIIIIII

0 10 20 30 40 50

60

70

80

90
x: Et (GeV)

100




|diJet Et (accepted EE)| Entries 4
:|Mean 9.25
i :-E- -------------------- —High Etjet |
--- Low Et jet
NI N O N N S
l!]l"llll
0 10 20 30 20 50 60

x: Et (GeV)

Entries 4
|Et of Jetl vs. Jet2 (accepted_EE)| Mean x 9.8
= 30 —Meany 4.75
@ C :
e L 0.9
E 25__ ......................................................................................
TR —o.8
L —o0.7
01 s
B —0.6
L R LT ST Es s
F —o04
O eee e e e e
C . . 0.3
B . 0.2
S A
L : : 0.1
O C 111 1 | 1 11 1 | 1 11 | 1 1 | 1 1 1 | 1 1 1 O
0 5 10 15 20 25 30
x: Jetl/GeV
H i1_ i Entries 4
|d|Jet phil-phi2 (accepted_ EE) | v
_ 30 : |Meany  17.25
o B : :
o F : . 0.9
» o :
(] N e
N TR : —o.8
= - :
a o :
5 20:_ L - ...................................................................... =07
- : —0.6
L R T RCITItt TR SRR —os
B o4
10— --------------------------------------------------------------------------------------
- 0.3
- 0.2
5_— """""""""""""""""""""""""""""""""""""""""""
- 0.1
O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O
0 5 10 15 20 25 30

x: iPhil ~sector

|diJet eta2 vs. etal (accepted_EE)|

Entries
ean x

x: iEta2 [-1,+2]

[ERY
N

[N
N

1N
O

En

BTO\W!
I_II\lJVV

4
12.75
13.25

ean y

[ee]

0 2 4 6 8

.............................

.............................

0.6

0.4

0.2

10 12 14

x: iEtal [-1,+2]



|Et of Jetl vs. Jet2 (accepted_EB)|

Entries

> 30

Jet2/Ge

25

20

15

10

0

0 5

Mean x

.....................................................................................

......................................................................................

10 15 20 25 30
x: Jetl/GeV

50
9.1
:Meany 5.26

9

8

|diJet Et

10

0 10

50

9.1

(accepted EB) | Entries
PP Mean
g —Figh ECjet |
o Low Etjet ---------------------

.'I'.'".' '.""T o S AR At ST MR S At AAr SRy airis

20 30 40

|diJet phil-phi2 (accepted EB)| Entries 50
30 Meany 15.18

N
¢

y: iPhi2 ~sector

20

15

10

0 5

10

1 1 1 1 - 1 1 1 i 1 1 1 1 i 1 1 1 1
15 20 25 30
x: iPhil ~sector

L

1.8

1.6

1.4

1.2

1

0.8

0.6

0.4

0.2

0

|d|Jet eta2 vs. etal (accepted_ EB)|

50
x: Et (GeV)

Entries
ean x

Endca

DTﬁ\I\I
'(E' -
Flr 14__ """"""""""""""""""""""""
N N
,|:|_‘_J 12_— ---------------------------------------------
x  F
10

0 2 4 6 8

...........................

ean y

10

12 14
x: iEtal [-1,+2]

60

50
10.52
11.3




|diJet Et (accepted BB) |

10

10

Entries 860

- - -

B
| B . .

............................

..........................

5 Mean 9.731

—High Et jet

--- Low Et jet

.....................

1 'I"'I"'i"'"_'I;H"i"'|"l"r""'i"'l"'l"'l"'l"

30 40

Entries 860
|Et of Jetl vs. Jet2 (accepted_BB)| VARV
> 30 . . . . —Meany 5,187
[} I~ : : : : :
© L ' 120
N
2 25_— --------------------------------------------------------------------------------------
- —{100
20
N 80
15
C 60
10~ 40
5 — 20
O C 111 | [ T | [ I | | 111 | | I T | | | I T | O
0 5 10 15 20 25 30
x: Jetl/GeV
H 1. i Entries 860
|d|Jet phil-phi2 (accepted_BB)| Vi
30 — —Meany 15.06

y: iPhi2 ~sector
N
Ul

P
0 1 1 1 1 I 1 11 1 I 1
0 5 10 15 20 25 30

Sun Apr 12 09:12:38 2009 x: iPhil ~sector

|diJet eta2 vs. etal (accepted_BB)|

x: iEta2 [-1,+2]

6 8 10

50 60
x: Et (GeV)

Entries 860

ean x 5.886
() b
Endca cany  ooa |

12 14
x: iEtal [-1,+2]



